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1 milizE— AT 37 84 12.4 71.6
2 FERE— 46 37 83 11.2 71.8
3 RESS 47 37 84 11.2 72.8
4 EEFIEFD 44 37 81 7.6 73.4
5 fhHEA 40 37 77 2.8 T4.2
6 HNEF 50 37 87| 12.4 74.6
7 HRIE 42 37 79 4.0 75.0
8 ARJLE ] 42 37 79 4.0 75.0
9 EHEZ 48 37 85 10.0 75.0
10 fi FH 475 48 37 85 10.0 75.0
11 BJIE 48 37 85 10.0 75.0
12 JEKEEAN 41 37 78 2.8 75.2
13 A RET 47 37 84 8.8 75.2
14 AFESGLT 52 37 89| 13.6 75.4
15 SFiBER 45 37 82| 6.4 75.6
16 7 45 37 82 6.4 75.6
17 A H B 44 37 81, 5.2 75.8
18 fhH EfE 50 37 87 11.2 75.8
19 HIER 50 37 87| 11.2 175.8
20 KIMBEZ 49 37 86 10.0 76.0
21 dFHHE 55 37 92 16.0 76.0
22 "LIEAT 55 37 92| 16.0 76.0
23 48 37 85 8.8 76.2
24 A 48 37 85| 8.8 76.2
25 METINr 50 37 87 10.0 77.0
26 FTERTIE 43 37 80 2.8 77.2
27 AERIRY 48 37 85 7.6 T77.4
28 WEES 39 37 76 -2.0 78.0
29 BY 1 57 37 94| 16.0 78.0
30 KA 44 37 81 2.8 78.2
31 HEFHEE 50 37 87 8.8 78.2
32 HLATL 56 37 | 93 10.0 83.0
33 P& 64 37 101] 17.2 83.8




